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1. tIcf tÃ‰v ̂ n\m≥j-y¬ F‚¿ss{]-kns‚ Bÿm\w?

a) Xncp-h-\-¥-]pcw   b) Xr»q¿     c) tImgn-t°mSv d) sIm√w
2. ‘]pØ≥]m\’ F∂ IrXn cNn-®-Xmcv?

a) Ipdp-º≥ ssZh-Øm≥ b) Ipc-ym-t°mkv Gen-bmkv
c) A¿t\mkv ]mXncn d) ]mºmSn tPm¨ tPmk v̂

3. Iem-a-WvUew sslZ-cmen GXv Iem-cq-]-hp-ambn _‘-s∏-́ n-cn-
°p∂p?

a) am∏n-f-∏m v́ b) tIm¬Ifn c) IY-I-fn-∏m v́ d) Iq-Sn-bm´w
4. tIc-f-Ønse BZy ]{Xw?

a) tZim-̀ n-am\n b) kz-tZ-inan{Xw   c) Zo]nI d) cmP-y-k-am-Nmcw
5. F BIr-Xn-bn-ep≈ tIc-f-Ønse XSmIw?

a) imkvXmw-tIm´   b) sh≈m-bWn   c) ]qt°mSv d) AjvS-apSn
6. tIc-f-Ønse BZ-ysØ kz-Im-cy _m¶v?

a) C‚¿\m-j-W¬ _m¶v b) Nm¿t´¿Uv _m¶v
c) s\Sp-ßmSn _m¶v d) Cw_o-cn-b¬ _m¶v

7. 1859 ¬ Be-∏p-g-bn¬ Ib¿ ̂ mIvSdn ÿm]n® Pbnwkv Umd
GXv cmP-y-°m-c-\m-bn-cp∂p?
a) P¿Ω\n b) Ab¿e‚ v c) kvs]bn≥       d) C‰en

8. tIcfw apgp-h≥ ssPh-Irjn hym-]n-∏n-°m≥ IpSpw-_{io aptJ\
kwÿm\ k¿°m¿ \S∏m°p∂ ]≤Xn GXv?

a) Henhv b) s]menhv c) \ndhv         d) Poh\w
9. ae-_m¿ Pn√m tIm¨{K-kns‚ ]me-°mSv ktΩ-f-\-Øn¬

A≤-y-£X hln-®-Xmcv?
a) B\n-_-k‚ v b) tN‰q¿ i¶-c≥\mb¿
c) sI.-tI-f-∏≥ d) C.-sam-bnZp auehn

10. H∂mw tIcf a{¥n-k-̀ -bnse BsI AwK-ß-fpsS FÆw?
a) 8 b) 6 c) 11 d) 13

11. tIcfw C¥-y-bp-sS hep-∏-Øn¬ F{X iX-am\w?
a) 1.28% b) 2.18% c) 1.38% d) 1.18%

12. \nh¿Ø\ {]t£m`w \S∂ h¿jw?
a) 1931 b) 1930 c) 1932 d) 1946

13. Hcp {]nk-Øn-eqsS ka-\-znX {]Im-i-amb a™ IS-Øn-hn-´m¬
{]nk-Øns‚ t_kn¬ ImW-s∏-Sp∂ h¿Æ- taXv?

a) Nph∏v b) ]® c) a™ d) \oe
14. A¥¿hm-ln-\n-I-fn¬ Ccp-∂p-sIm≠v kap-t{Zm-]-cn-X-e-Øn-ep≈

Zri-y-ßƒ Im-Wm-\p-]-tbm-Kn-°p∂ D]-I-cWw?
a) s]cn-kvtIm∏v b) sSen-kvtIm∏v
c) Imen-tUm-kvtIm∏v      d) Ce-Ivt{Sm¨ssa-t{Im-kvtIm∏v

15. se≥kns‚ ]h¿ Af-°p∂ bqWn‰v?
a) hm v́ b) Im≥Ue c) eqa≥ d) Utbm-]v‰¿

16. F‰hpw km{µX Ipd™ hmXIw?
a) ssl{U-P≥ b) t¢mdn≥ c) HmIvkn-P≥ d) ss\{S-P≥

17.  IS¬ sh≈Øns‚ PH aqeyw ?
a) 7 b) 8 c) 12 d) 6.4

18. aqeI-ßsf At‰m-anIv ̀ mc-Øns‚ Btcm-l-W-{I-a-Øn¬ Xcw-Xn-
cn® imkv{X-⁄≥?

a) sa≥Un-eohv b) Umƒ´¨ c) tamkven d) Ah-Kmt{Um
19. Xmsg sImSp-Øn-́ p-≈-h-bn¬ sshd¬ tcmK-taXv?

a) ssSt^m-bnUv b) ate-dnb
c) ̂ nem-cn-bm-knkv d) sU¶n-∏\n

20. ]n‰-yq-‰dn •m‚ v ÿnXn sNøp∂ ̀ mKw?
a) \s´√ b) s\©v c) hb¿ d) Xe

21. kzbw {]Xn-tcm[ sshI-e-y-Øn\v DZm-l-c-W-amWv?
a) hmX-∏\n b) Bkva c) Ae¿Pn d) sS‰\n

22. tImiØnse Du¿P-\nebw F∂-dn-b-s∏-Sp-∂Xv?
a) a¿Ωw b) ssat‰m-tIm¨{Unb
c) ssdt_mtkmw d) ssetkmtkmw

23. kp_≥kncn Pe-ssh-Z-ypX ]≤Xn GXv kwÿm-\-ØmWv?
a) a[-y-{]-tZiv b) B mw c) I¿Æm-SI d) cmP-ÿm≥

24. kmZnb apX¬ [q{_n hsc-bp≈ tZiob Pe-]mX GXp \Zn-bn-emWv?
a) {_“-]p{X b) tKmZm-hcn c) KwK d) IrjvW

25. apKƒ ̀ c-Wm-[n-Im-cn-bmb Plmw-Ko-dns‚ ih-Ip-Socw ÿnXn-sN-
øp-∂Xv?

a) apƒ´m≥ b) emtlm¿ c) Im_qƒ d) U¬ln
26. dKp-te-‰nwKv BIvSv?

a) 1773 b) 1774 c) 1775 d) 1776
27. GXv ssht{km-bn-bpsS Ime-L-́ -Øn-emWv hlm-_n,-IqI {]ÿm-

\-ßƒ DS-se-Sp-ØXv?
a) U¬lukn {]`p b) Igvk¨ {]`p
c) lm¿Un©v {]`p d) tatbm {]`p

28. Al-Ω-Zm-_mZv XpWn-an¬ ka-c-Øns‚ apJy ImcWw?
a) \oew Irjn-bpsS XI¿® b) Du¿÷ {]Xn-k‘n
c) tπKv t_mWkv d) ]cp-Øn-£maw

29. Km‘n-Pn-bpsS ZWvUn-bm-{Xsb F¬_m-bn¬ \n∂pw s\t∏m-fn-bs‚
]mco-kn-te-°p≈ aS°w F∂v hntijn-∏n-®Xv Bcv?

a) tKm]m-e-Ir-jvW-tKm-Jse b) _n]n≥ N{µ-]m¬
c) s\lvdp d) kp`m-jvN-{µ-t_mkv

30. kwÿm\ ]p\:-kw-L-S\m IΩn-j≥ \ne-hn¬ h∂ h¿jw?
a) 1949 b) 1954 c) 1953 d) 1956

31. 2015 ̨ ¬ sF.-F≥.Pn sshiy _m¶ns\ Gs‰-SpØ _m¶v GXv?
a) tImSIv alo-{µ-_m¶v b) sk©q-dn-b≥ _m¶v
c) F®v.-Un.-F-̂ v.-kn.-_m¶v d) _m¶v Hm^v C¥y

32. C¥-y-bnse BZ-ysØ tdm°‰v hnt£-]W tI{µw FhnsS ÿnXn
sNøp∂p?

a) {iol-cn-t°m´   b) Ggn-ae c) henb ae d) Xpº
33. tPmKv sh≈-®m´w Z£n-tW-¥-y-bnse GXv \Zn-bn-emWv?

a) icm-hXn b) IrjvW c) Imthcn d) XpwK-̀ {Z
34. t{Sm∏n-°¬ t^mdÃv dnk¿®v C≥Ãn-‰-yq v́ ÿnXn-sN-øp-∂-sX-hnsS?

a) sUdm-Uq¨ b) P_¬]q¿ c) tPm¿-l v́ d) t`m∏m¬
35. C¥-y-bnse ]tcm£ \nIpXn Ch-bn¬ GXmWv?

a) tkh\ \nIpXn b) tIm¿∏-td‰v \nIpXn
c) sXmgn¬ \nIpXn d) BZmb \nIpXn

36. Xmsg ]d-bp-∂-h-bn¬ amwK-\okns‚ DXv]m-Z-\-Øn¬ G‰hpw
apºn¬ \n¬°p∂ kwÿm\w?

a) Pm¿JWvUv b) HUoj c) tIcfw d) Xan-gv\mSv
37. C¥-y≥ ̀ c-W-L-S-\-bn¬ GIo-IrX knhn¬ tImUv ]cm-a¿in-®n-

cn-°p∂ hIp∏v GXv?
a) 40 b) 24 c) 44 d) 14

38. Kpcp-]¿∆v GXv aX-°m-cpsS BtLm-j-amWv?
a) ]mgvkn b) knJv c) _p≤ d) C…mw

39. Gj-ym-‰nIv skmssk‰n Hm v̂ _wKmƒ ÿm]n-®Xv Bcv?
a) cmPmdmw taml≥tdmbv b) kptc{µ\mY _m\¿Pn
c) kn.-F-̂ v.-B≥{Uqkv d) hneyw tPm¨kv

40. Ct°m h\-y-Pohn Sqdn-k-Øn\v {]kn-≤-amb ̀ n´m¿I-WnI FhnsS
ÿnXn-sN-øp∂p?

a) DØ¿{]-tZiv    b) a≤-y-{]-tZiv    c) tKmh     d) HUoj
41. UNEP bpsS Bÿm\w?

a) s\bv-tdm_n     b) P\oh    c) hnb∂ d) ]mcokv
42. tZiob \-yq-\-]£ Ah-Imi Zn\w?

a) \hw-_¿ 18 b) Unkw-_¿ 18  c) HIvtSm-_¿ 18  d) sabv 18
43. knbm-en¬ {][m-\-ambn A-S-ßn-bncn°p∂ teml-ßƒ?

a) Si,Li b)  Fe,Si c) Pb,Si d)Si,Al
44. kqbkv I\m¬ KXm-K-X-Øn\v Xpd∂v sImSpØ h¿jw?

a)1856 b) 1863 c) 1869 d) 1879
45. BImi ]nXmhv F∂v hnti-j-W-ap≈ {Klw?

a) bpdm-\kv b) ip{I≥ c) s\]vS-yq¨d) _p[≥
46. 2019 se kmln-Xy t\m_-en\v A¿l-\m-bXv ?

a) hneyw Pn Ioen≥ b) ]o‰¿ lm≥UvsI
c) ]o‰¿ dmUv¢n^v d) sksa≥km

47. t]m¿®p-K-ens‚ {][m-\-a-{¥n-bmbn ho≠pw \nb-an-X-\m-bXv ?
a) At‚mWntbm tImÃ b) At‚mWntbm Kp´dkv
c) s\X-\-ymlp d) Un.-kn¬h
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48. C¥-y-bnse BZy Hgp-Ip∂ _mkvI-‰vt_mƒ tIm¿´v \ne-hn¬
h∂Xv?

a) sIm¬°Ø     b) sNss∂ c) _m•q¿ d) apwss_
49. Hcp sSÃn¬ G‰hpw IqSp-X¬ knIvk¿ F∂ sdt°m¿Un\v

A¿l-\mb Xmcw?
a) hncmSv tImlven b) Fw.-Fkv t[mWn
c)amb¶v AK¿hmƒ d) tcmlnXv i¿Ω

50. 2019 se temI AXve-‰nIv Nmº-y≥jn∏v tPXm-°ƒ?
a) Ata-cn° b) Pssa° c) ssN\ d) {_n´¨

51. A¿∞w Fgp-XpI : DSPw F∂ ]Z-Øn\v A¿∞w GXv ?
a) DZ-ym\w b) B{iaw c) sIm´mcw d) amfnI

52. Bjmtat\m≥ F∂ XqenIm\m-a-Øn¬ Adn-b-s∏-Sp-∂Xv
BcmWv?

a) sI. {ioIp-am¿ b) hn.-hn.-A-ø-∏≥
c) hn. am[-h≥ \mb¿ d) Fw.-sI. tat\m≥

53. acWw cwK-t_m-[-an-√mØ Hcp tImam-fn-bmWv ̨  a™v F∂ t\m-
h-ense Hcp IYm-]m-{X-Øns‚ hm°p-I-fm-Wnh BcpsS ?

a) _nµp b) hnae c) k¿Zm¿Pn d) eoe
54. ‘a\p-j-ys\’ ̨  Chn-sS-bp≈ hn -̀‡n-tbXv?

a) kwtbm-PnI b) Dt±-inI c) {]Xn-{Km-lnI  d) B[m-cnI
55. \nd™ aSn-»o-ebv°v Hcn-°-epw kplr-Øp-°ƒ°v ]™-ap-≠m-In√ ?

a) A heavy purse gives  to a light heart
b) A full purse never lacks friends
c) An empty purse frightens away friends
d) Wealth makes many friends poverty drives them all away

56. BK-a-k-‘nbv°v DZm-l-cWw GXv?
a) s\∑Wn b) ]S-®´ c) hni-∏p≠v d) Xncp-hm-Xnc

57. Xmsg ]d-bp-∂-h-bn¬ \n∂pw KpW-\m-a-Øn\v DZm-l-cWw Is≠-ØpI ?
a) Ifn b) AgIv c) ]Tn∏v d) Dd°w

58. icn-bmb hm°v GXv?
a) sskz-cyw b) k{am v́ c) krjvSmhv d) k¥pjvTw

59. H‰-°-Æ≥ t]m°¿ GXv IrXn-bnse IYm-]m-{X-amWv ?
a) ap®o´p Ifn-°m-cs‚ aIƒ b) _me-y-Im-e kJn

c) ]mØp-Ω-bpsS BSv d) ‚p∏v∏m-s°m-cm-t\-≠m-¿∂v
60. XZ-z-Ø-≤n-X-Øn\v DZm-l-c-W-taXv?

a) Pm\In b) sX°≥ c) \Zn d) ]ga
61. Manu showed no sympathy towards the poor. His attitude was
full of _____

a) Empathy b) antipathy c) Allopathy d) Apathy
62. Replace the words in Italics with one word :     The cross was
Made sacred by the death of Jesus on it.

a) Baptized b) Sanctified c) Crowed d) Decorated
63. The synonym of remorse is

a)Intelligent b) Benevolent c) Regret d) angry
64. One of the children ____ intelligent

a) can b) is c) are d) have
65. 2 kilos of potatoes _____ nothing to carry

a) have b) are c) were d)is
66. The passive form of “ They have done it ” is :

a) It have been done b) It have done
sc) it has been done d) It has done

67. Teacher to the boy : “Consult a dictionary”.    The indirect  form
of the sentence is :   The teacher asked the boy _____

a) that he may consult a dictionary
b) that he may consult a dictionary
c) to consult a dictionary    d) that he consulted a dictionary

68. students must have access _____ good books
a) of b) in c) to d) with

69. If  you dropped the plate :
a) It will break b) it would break
c) it would have broken d) it will have broken

70. The correctly spelt word below  is :
a) Anexation b) Alegation
c) Amalgamation d) Abreviation

71. Lot of sugar ______ put in to the tea
a) were b) was c) are d) have

72. Add a question tag to the following
 You are going home now, ______ ?

a) are you b) were you c) aren’t you d) weren’t you ?
73. Choose the correct one from the options :  I prefer pen ____

pencil
a) for b) to c) on d) in

74. Choose the appropriate article :  Yesterday _____ European
called at my office

a) no article b) an c) the d) a
75. A poem lamenting the dead is _____

a) Eulogy b) Sonnet c) obituary d) Elegy
76. Plural of goose

a) goose b) geese gooses d) geeses
77. I would rather ____ than beg

a) starve to b) to starve c) starved d) starve
78. I did _____ I could which was not much

a) how much b) that c) what d) which
79. Night traffic embarge is enforced in kerala and karnataka road

because a lot of _____ are found loitering in the road during
night

a) deers  b) Deerse c) Deerses d) deer
80. The word ‘platonic’ means

a) Idealistic b) immoral c) Untidy d) impure
81. 58 cq] A,B,C F-∂n-h¿°v hoXn-®Xv C{]-Im-c-am-Wv. A bv° v

Btb°mƒ 7 IqSpXemWv. Bbv°v Ctb°mƒ 6 IqSp-Xepw
Ah¿°v e`n® XpI-bpsS Awi-_‘w?

a) 13:26:19 b) 26:19:13 c) 19:13:26 d) 28:18:12
82. 1, 7, 9, 14, 17, 21 ˛̨ -̨ -̨ -̨ ˛ F∂ t{iWn-bnse ASpØ kwJy ?

a) 27 b) 25 c) 52 d) 24
83. IrXyw 8:20 \v t¢m°nse aWn-°q¿ kqNn°pw an\n´v kqNn°pw

CSbn-ep≈ tImW-fhv F{X?
a) 1300 b) 200 c) 2400 d) 1200

84. KUMAR F∂Xv 64 Bbm¬ KUMARI?
a) 65 b) 73 c) 69 d) 74

85. \mev h¿jw apºv dln-ans‚ {]mbw cmap-hns‚ {]mb-Øns‚ aq∂v
aS-ßm-bn-cp-∂p. c≠p-h¿jw Ign-bp-tºmƒ CXv c≠v aS-ßmIpw
cmap-hns‚ Ct∏m-gsØ {]mbw F{X-bmWv?

a) 6 b) 10 c) 12 d) 8
86. 180 s‚ 2% F∂Xv GXv kwJ-y-bpsS 3% BWv ?

a) 100 b) 360 c) 120 d) 180
87. cmap Hcp km[\w 20% em`-Øn¬ 360 cq]bv°p hn‰p. F¶n¬

hmßn-b-hne F{X ?
a) 340 b) 300 c) 280 d) 380

88. Hcp h¿j-Øn¬ BKÃv 25-̨ mw XobXn hymgw BsW-¶n¬ B amk-
Øn¬ BsI F{X Xn¶-fm-gvN-Iƒ D≠v ?

a) 4 b) 6 c) 3 d) 5
89. 6 s‚ BZ-ysØ 30 KpWn-X-ß-fpsS icm-icn F{X?

a) 90 b) 89 c) 93 d)85
90.  AF∂m¬ ‘-’, B F∂m¬ ‘+’, CF∂m¬ ‘÷’, D F∂m¬ ‘X’  Bbm¬

20C5A3B4D2 ?
a) 9  b) 15 c) 8 d) 12

91. 36 Bfp-Iƒ 25 Znhkw sIm≠v Xo¿°p∂ Hcp tPmen 15 B-fp-
Iƒ F{X Znhkw sIm≠v Xo¿°pw?

a) 60 b) 55 c) 65 sd) 70
92. Hcp kmam-¥-cn-I-Øns‚ _rl-XvtIm¨ \yq-\-tIm-Wns‚ Cc-́ n-

bm-Wv. F¶n¬ kmam-¥-cn-I-Øns‚ tImW-f-hp-Iƒ Gh ?
a) 550, 550, 110, 110 b) 700,1 400, 500, 1000

c) 600, 600, 1200, 1200 d) 650, 1300, 600, 1200

93. Hcp ]m¿´n-bn¬ 20 t]¿ ]s¶-Sp-Øp. ]m¿-´n-bpsS XpS-°-Øn¬
Hmtcm-cp-Øcpw ]c-kv]cw lkvX-Zm\w sNbvXp. BsI F{X
lkvX-Zm-\-ßƒ D≠mbn?

a) 210 b)200 c) 180 d)190
94. Hcmƒ 10 ao‰¿ t\sc Ing-t°m´v \S-∂-tijw 6 ao‰¿ sXt°m´v

\S-∂p. AXn-\p-ti-jw 18 ao‰¿ ]Sn-™mtdm v́ \S-∂p. Bcw-`n®
ÿeØp \n∂v Ct∏mƒ \n¬°p∂ ÿe-tØ-bv°p≈ G‰hpw
Ipd™ Zqc-sa{X ?

a) 16 b) 18 c) 28 d) 10
95. 260 s‚ ]IpXn F{X ?

a) 259 b) 230 c) 160 d) 159

96. X∂n-´p-≈-h-bn¬ G‰hpw hepXv GXv?
a) 7/10 b) 4/5 c) 5/8 d) 3/4

97. 250 ao‰¿ \of-ap≈ Hcp Xoh≠n 12 sk°‚n¬ Hcp acsØ IS∂p t]mIp-
∂p-sh-¶n¬ Xoh-≠n-bpsS thKX F{X?

a) 25km/hr b) 68km/hr c) 72km/hr d) 75km/hr
98. a2+b2 = 45, (a+b) = 9 Bbm¬ (a-b) = ______ ?

a) 3 b) 4 c) 5 d) 2
99. Xmsg X∂n-cn-°p∂ kwJ-y-I-fn¬ 3 sIm≠v \ntijw lcn-°m-

hp∂ kwJ-y-tbXv?
a) 2541 b) 5243 c) 3031 d) 3313

100. Hcp ka-N-Xp-c-Øns‚ hi-ßƒ 3 aSßv h¿≤n-®m¬ AXns≥d
 hnkvXo¿Æw F{X aSßv h¿≤n°pw?

a) 6 b) 9 c) 3 d) 12


